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P - III (1+1+1) G / 21 (N)

2021

GEOGRAPHY (General)
Paper Code : VII - A & B

[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : VII - A
Full Marks : 15 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. The Eastern Ghats and Western Ghats meets at —

(A) Nilgiri hills

(B) Palani hills

(C) Cardamon hills

(D) Annamalai hills

1Ð þ™!Øþ›‡yÝþ ç þ™)îÅ‡yÝþ þ™îÅ“þ ¦þyîûöì“þîû öë…yöì̃  !›!œ“þ £öìëûöìŠé “þy £œ éôôôé

(A) ˜#œ!†!îû þ™y£yvþü

(B) þ™yœy!˜ þ™y£yvþü

(C) „þyîûvþy›˜ þ™y£yvþü

(D) xy§¬y›yœy£z þ™y£yvþü

2. Which is the largest peninsular river in India?

(A) Mahanadi

(B) Godavari

(C) Cauveri

(D) Krishna

2Ð ¦þyîûöì“þîû òöþ™!˜˜¢%œyîûó ¦)þ¦þyöì†îû ¢îÅî,£ê ˜”#îû ˜y› !„þÚ

(A) ›£y˜”#

(B) ö†y”yîîû#

(C) „þyöìî!îû

(D) „,þ¡Œy
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3. South-West Monsoon contributes to India’s total rainfall upto the extent of —

(A) 75 percent

(B) 50-60 percent

(C) 80-90 percent

(D) 100 percent

3Ð ”!Çþ’éôéþ™!Øþ› ö›ï¢%›# îyëû%‹!˜“þ î,!ÜTþ™y“þ ¦þyîûöì“þîû ö›yÝþ î,!ÜTþ™yöì“þîû „þ“þ Ÿ“þy‚öìŸîû xî”y˜
îûyöì…Ú

(A) 75 Ÿ“þy‚Ÿ

(B) 50éôé60 Ÿ“þy‚Ÿ

(C) 80éôé90 Ÿ“þy‚Ÿ

(D) 100 Ÿ“þy‚Ÿ

4. The older alluvium of the Gangetic plain is called —

(A) Bhangar

(B) Terai

(C) Khadar

(D) Bhabar

4Ð †yöìDëû ¢›¦)þ!› xMþéöìœîû ²Ìî#’ þ™!œ ›,!_„þyöì„þ îœy £ëû éôôôé

(A) ¦þyDîû

(B) “þîûy£z

(C) …y”îû

(D) ¦þyöìîyîû
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5. The most important means of irrigation in Deccan India is —

(A) Well

(B) Canal

(C) Tank

(D) None of these

5Ð ¦þyîûöì“þîû ”y!Çþ’yöì“þÄîû ›yœ¦)þ!› xMþéöìœîû x˜Ä“þ› ²Ì•y˜ ‹œöì¢öì‰þîû ›y•Ä›!Ýþ £œ éôôôé

(A) „)þþ™

(B) …yœ

(C) ÝþÄyBþ

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

6. Which of the following factor is directly influencing deforestation in India?

(A) Extension of agriculture

(B) Extension of Settlement

(C) Extension of Lumbering industry

(D) All of these

6Ð !˜öìÁ¬îû ö„þy ä̃ vþzþ™y”y˜!Ýþ ¦þyîûöì“þîû î˜¦)þ!›îû Çþöìëûîû ‹˜Ä ¢îûy¢!îû ”yëû#Ú

(A) „,þ!¡ì¦)þ!›îû ¢Á±¢yîû’

(B) ‹˜î¢!“þîû ¢Á±¢yîû’

(C) „þyÛþ !ŸöìÒîû ²Ì¢yîû

(D) vþzþ™öìîûîû ¢î„þëû!Ýþ
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7. What percentage of Indian land area (average) used for food crops cultivation
under total cropped area?

(A) 70%

(B) 80%

(C) 85%

(D) 75%

7Ð ¦þyîû“þîöì¡ìÅîû ö›yÝþ S†vþüV Ÿ¢ÄöìÇþeéôé~îû „þ“þ Ÿ“þy‚Ÿ „,þ!¡ì‹!› …y”ÄŸ¢Ä vþzêþ™y”öì̃ îû ‹˜Ä
îÄî£*“þ £öìëû íyöì„þÚ

(A) 70%

(B) 80%

(C) 85%

(D) 75%

8. Currently which of the following is regarded as vital and popular non-renewable
power-resource in our country —

(A) Human resource

(B) Hydro-electricity

(C) Solar power

(D) Nuclear power

8Ð !˜öìÁ¬îû Ÿ!_« ¢Á™”=!œîû ›öì•Ä ö„þy˜ä!Ýþ î“Åþ›yöì̃  xy›yöì”îû ö”öìŸ ~„þ!Ýþ =îû&cþ™)’Å ~î‚
‹˜!²Ìëû x!‰þîûy‰þ!îû“þ Ÿ!_« ¢Á™” !£öì¢öìî !îöìî!‰þ“þ éôôôé

(A) ›y˜î ¢Á™”

(B) ‹œ!î”%Äê Ÿ!_«

(C) ö¢ïîûŸ!_«

(D) þ™yîû›y’!î„þ Ÿ!_«
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9. The name of the center of iron & steel industry which is established in pre-
independence period of India is —

(A) Bhilai

(B) Jamshedpur

(C) Bokaro

(D) Durgapur

9Ð ¦þyîûöì“þîû ßþºy•#˜“þyîû þ™)öìîÅ †!àþ“þ öœï£éôé£zßþ™y“þ !ŸÒ ö„þw!Ýþîû ˜y› éôôôé

(A) !¦þœy£z

(B) ‹y›öìŸ”þ™%îû

(C) öîy„þyöìîûy

(D) ”%†Åyþ™%îû

10. In India ‘black soils’ are the —

(A) Second largest group of soil

(B) Smallest group of soil

(C) Largest group of soil

(D) None of these

10Ð ¦þyîûöì“þîû ò„,þ¡Œ ›,!_„þyîûó !î¦þy†!Ýþ éôôôé

(A) !m“þ#ëû î,£_› ›,!_„þyîû !î¦þy†

(B) Ç%þo“þ› ›,!_„þyîû !î¦þy†

(C) ¢îÅî,£ê ›,!_„þyîû !î¦þy†

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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11. Which is the poorest quality of coal found in our country?

(A) Lignite

(B) Bituminous

(C) Peat

(D) Anthracite

11Ð ¢îöì‰þöìëû x %̃§¬“þ ›yöì̃ îû öë „þëûœy xy›yöì”îû ö”öìŸ ¢îÅy!•„þ þ™yçëûy ëyëû éôôôé

(A) !œ†˜y£zÝþ

(B) !îÝ%þ!›˜y¢

(C) þ™#Ýþ

(D) xÄy˜íÊy¢y£zÝþ

12. Which of the following Indian state has the highest concentration of ‘Schedule
Caste’ (SC) population, after Census 2011 —

(A) Uttar Pradesh

(B) West Bengal

(C) Andhra Pradesh

(D) Tamil Nadu

12Ð !˜öìÁ¬îû ö„þy ä̃ ¦þyîû“þ#ëû îûyöì‹Ä– ö¢˜¢y¢ 2011 (Census, 2011)éôé~îû þ™!îû¢‚…Äy˜ x %̃ëyëû#–
“þþ™!Ÿ!œ ‹y!“þîû (SC) ‹˜¢‚…Äy ¢îÅy!•„þ éôôôé

(A) vþz_îû²Ìöì”Ÿ

(B) þ™!Øþ›îD

(C) xõÉþ²Ìöì”Ÿ

(D) “þy!›œ˜yvþY
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13. India’s most developed and largest jute manufacturing center is established in —

A) Vadodara

B) Kolkata

C) Mumbai

D) Cochi

13Ð ¦þyîûöì“þîû ¢îöì‰þöìëû îvþü ç vþz§¬“þ›yöì̃ îû þ™yÝþ !ŸÒöì„þw!Ýþ †öìvþü vþzöìàþöìŠé éôôôé

(A) ¦þy””îûy

(B) „þœ„þy“þy

(C) ›%Áºy£z

(D) ö„þy!‰þ

14. According to Census of India (2011) the least populated state is —

(A) Arunachal Pradesh

(B) Goa

(C) Sikkim

(D) None of these

14Ð ¦þyîû“þ#ëû ö¢˜¢y¢ S2011Véôé~îû þ™!îû¢‚…Äy˜éôé~îû “þíÄ x %̃ëyëû# ¢îÅ!˜Á¬ ‹˜¢‚…Äy ¢Á™§¬
îûy‹Ä éôôôé

(A) xîû&’y‰þœ ²Ìöì”Ÿ

(B) ö†yëûy

(C) !¢!„þ›

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû
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15. According to Census of India (2011) the population growth rate declines during
2001-2011 is —

(A) 17.21%

(B) 15.64%

(C) 16.60%

(D) 17.64%

15Ð ¦þyîû“þ#ëû ö¢˜¢y¢ S2011V ²Ì„þy!Ÿ“þ þ™!îû¢‚…Äy˜éôé~îû !£öì¢î x %̃ëyëû# ¦þyîûöì“þîû ‹˜¢‚…Äy
2001éôé2011 ¢yöìœîû ›öì•Ä öë £yöìîû þ™!îûî!“Åþ“þ £öìëûöìŠé éôôôé

(A) 17.21%

(B) 15.64%

(C) 16.60%

(D) 17.64%

—————
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P - III (1+1+1) G / 21 (N)

2021

GEOGRAPHY (General)
Paper : VII-B

[New Syllabus]

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Section - I

Answer any two questions. 10×2=20

1. How many major types of natural vegetation of India are found? Discuss in
details about any two of the major types of natural vegetation zones. 2+4+4=10

2. What are the major and minor problems of Indian agriculture — discuss in
details. Write down the best possible remedial measures for the eradication of
problems of Indian agriculture. 7+3=10

3. Discuss the recent problems and prospects of petro-chemical industries with
special reference to Ahmadabad-Vadodara-Jamnagar Industrial Region. 10

4. What are the major uses of coal in modern India? Discuss the distribution of
coal producing areas of India. What are the associated problems regarding
production and usage of coal? 3+4+3=10

Section - II

Answer any three questions. 5×3=15

5. Briefly explain the social-forestry. 5

6. Distinguish between ‘North Indian River’ and ‘South Indian River’. 5

7. What are major problems of high population growth in India? 5

8. Briefly explain the merits of Green Revolution in India. 5
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9. What are the prospectuses of jute industry in India? 5

10. Write a short note on Santhal tribe. 5

îDy %̃îy”

!î¦þy† éôé „þ

öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 10×2=20

1Ð ¦þyîû“þîöì¡ìÅîû ßþºy¦þy!î„þ vþz!qöì”îû î^ùÝþ˜ x %̃ëyëû# „þ“þ=!œ ²Ì•y˜ ¦þyöì† î˜¦)þ!›öì„þ ¦þy† „þîûy
ëyëûÚ ¦þyîûöì“þîû î˜¦)þ!›îû ö×!’!î¦þyöì†îû xhsþ¦%Åþ_« öë ö„þyöì̃ y ”%!Ýþ !î¦þy† ¢Á™öì„Åþ !îhßþy!îû“þ
xyöìœy‰þ˜y „þîûÐ 2+4+4=10

2Ð ¦þyîû“þîöì¡ìÅîû „,þ!¡ìîû ²Ì•y˜ ~î‚ x²Ì•y˜ ¢›¢Äy=!œ !„þ !„þ éôôôé !îhßþy!îû“þ xyöìœy‰þ˜y „þîûÐ
¦þyîûöì“þîû „,þ!¡ì îÄîßþiyîû ¢›¢Äy ¢›y•yöì̃ îû ‹˜Ä vþzê„,þÜT vþzþ™yëû=!œ öœ…Ð 7+3=10

3Ð xy£öì›”yîy”éôé¦þy””îûyéôé‹yì›˜†îû !ŸÒyMþéœéôé~îû !˜!îûöì… öþ™öìÝþÆyéôéîûy¢yëû!˜„þ !ŸöìÒîû î“Åþ›y˜
¢›¢Äy ç ¢½þyîÄ ¢½þyî˜y ¢Á™öì„Åþ xyöìœy‰þ˜y „þîûÐ 10

4Ð xy•%!˜„þ ¦þyîûöì“þ „þëûœyîû ²Ì•y˜ îÄî£yîû=!œ !„þ !„þÚ ¦þyîûöì“þîû „þëûœy vþzêþ™y”„þ xMþéœ=!œîû
î ù̂Ýþ˜ ¢Á™öì„Åþ xyöìœy‰þ˜y „þîûÐ ¦þyîûöì“þ „þëûœyîû vþzêþ™y”˜ ~î‚ îÄî£yîû ¢Á™!„Åþ“þ ¢›¢Äy=!œ
!„þ !„þÚ 3+4+3=10

!î¦þy† éôé …

öë ö„þyöì̃ y !“þ˜!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 5×3=15

5Ð ¢y›y!‹„þéôéî˜¢,‹˜ ¢Á™öì„Åþ Ýþ#„þy öœ…Ð 5

6Ð òvþz_îû ¦þyîû“þ#ëû ˜”#ó ~î‚ ò”!Çþ’ ¦þyîû“þ#ëû ˜”#óéôé~îû þ™yíÅ„þÄ öœ…Ð 5

7Ð ¦þyîûöì“þîû vþzF‰þ£yöìîû ‹˜¢‚…Äy î,!kþ‹!˜“þ ¢›¢Äy=!œ !„þ !„þÚ 5

8Ð ¦þyîû“þ#ëû „,þ!¡ìöì“þ ¢î%‹ !î²Õöìîîû ¢%šþœ=!œîû ¢‚!Çþ® î’Å̃ y ”yçÐ 5

9Ð ¦þyîûöì“þîû þ™yÝþ !ŸöìÒîû ¢½þyî˜y=!œ !„þ !„þÚ 5

10Ð ¢¤yç“þyœ vþzþ™‹y!“þ ¢Á™öì„Åþ ¢‚!Çþ® Ýþ#„þy öœ…Ð 5

——————


